1. | Subtract 2,332 from the number below.

@0 00
OJORN 1

2} Complete this subtraction problem.

Thousands Hundreds Tens Ones
7 ] 4 6
4 3 3 5

3. Complete the calculation.
What do we do?
Where do we exchange from?
Why do we exchange from there?

4578
- 3643

4. Find the difference between 6,528 and 469 using column
subtraction.

Three Primary Schools join together to go
on a school visit to The Deep in Hull
1,235 people go on the trip. There are
1,179 children and 27 teachers. The rest
are parents.

How many parents are there?

E. Find the missing 4-digit number. 224
What are you going to do to solve the problem? +4678
Which operation are you going to da? Why? 7431

7. A shop has 8,435 magazines.
367 are sold in the morning and 579 are sold in the
afternoon.
How many magazines are left?

8,435
| ?

367 | 579




